Property A Spring 2017 Estates & Future Interests Exam:

Answers & Explanations


The test was harder than those from the past few years because I changed several grants in ways that punished careless reading.  Probably as a result, your scores were generally a little lower; the median was 18, andthe mean was 17.76 While only one student got a perfect score, about a quarter of you got 21 or more and  only 7 students got fewer than 14/24 correct.  The questions and answers are laid out below. Correct answers are in bold type.  My comments are in italics.  


Student names from Acadia, Everglades and Sequoia should be obvious. In addition, most of your Profs’ names (and Daniel’s) are scattered through the test. 
(1) Which of the following was true “at common law”?
This is a variation on a question I’ve given several times including Spring 2013 Question 2. 
(a) The Doctrine of Destructibility of Contingent Remainders applied.

(b) The default present possessory estate was the life estate.

(c) Courts recognized the estate of fee tail.

(d) All of the above.  96.1% of you chose this answer, making this the easiest question on the test.
(2) Which of the following is true in all American jurisdictions today?
This is a variation on 2014 Question 24. Answer (a) was a new choice. 

(a) The language, “To Stephanie for her support and benefit” creates a life estate in Stephanie.  As we discussed in the context of Problem 3O, this is true in some states, but not everywhere.
(b) Possibilities of reverter are only transferable by inheritance unless released to the holder of the underlying fee. . As we discussed in the context of Mahrenholz, this is a rule that exists in Illinois and some other states, but not everywhere.
(c) It is unnecessary to use the language “and X’s heirs” to create a fee simple absolute.  82.9% of you chose this answer.
 (d) All of the above. 10.5% of you chose this answer, probably because you thought either (a) or (b) was correct in addition to (c).
Question 3 is based on the following information:  In 2014, Kyle conveys Booth-Acre “to Lauren for life, then to Mallory and her heirs, but if Mallory does not give Lauren a proper funeral, to Nicolle and her heirs.  
This is a new question that is a variation on the second part of Problem 3J, except that I placed the condition (which cannot occur until after the life estate has ended) on the second interest after the life estate, rather than the first. Mallory’s interest is a vested remainder because there’s no condition built into the clause creating her interest.  Nicolle has a shifting executory interest.  Because Nicolle’s interest can only cut off Mallory’s after Mallory takes possession, we describe Mallory’s vested remainder as being in fee simple on executory limitation, rather than as “subject to divestment.”
(3) At the time of the grant, what interest does Mallory have?

(a) Contingent remainder. 15.8% of you chose this answer even though there is no express condition on Mallory taking the property.
(b) Shifting executory interest.

(c) Vested remainder subject to divestment. 27.6% of you chose this answer, which is wrong for the reasons noted above.
(d) Vested remainder in fee simple on executory limitation. Only 56.6% of you chose this answer, making this the 4th hardest question on the test.
Questions 4-7 are based on the following information:  Alex operated a very successful farm on Smith-Acre where he raised valuable chinchillas.  Eric, his manager for many years, lived on the farm. In 2005, Alex died leaving a valid will that said: “I leave Smith-Acre to Eric so he always has a place to live, but if Eric ever uses Smith-Acre for something other than a chinchilla farm, to Eric’s children then living and their heirs.  I leave all my other property to the McGlashen Corporation.”

There have been many versions of this set of questions based on Review Problem 3R.   Here, Questions 4-5 are mostly taken from Spring 2014 Questions 6-7.  This year’s Questions 6-7 are new.  The chinchilla farm was irresistible under the circumstances.
(4) Which of the following arguments supports a claim that Eric’s interest is a defeasible fee simple (rather than a defeasible life estate)?

(a)  The presumption that a will disposes of all of the testator’s property. This presumption, from White v. Brown, doesn’t support either position here because, unlike the grant in White v. Brown, the will here contains a residuary clause that disposes of all of Alex’s property regardless of how the grant is interpreted. 

(b) The presumption that, absent clear evidence of intent to the contrary, an interest is a fee simple.  This is also part of White v. Brown.  80.3% of you chose this answer.

(c)
 The condition regarding the chinchilla farm restricts Eric, not Eric’s heirs. If anything, this suggests a life estate, since the restriction only lasts as long as Eric is alive.
(d) All of the above. 13.2% of you chose this answer.
(5) Which of the following arguments supports a claim that Eric’s interest is a defeasible life estate (rather than a defeasible fee simple)?
I changed the 2014 version by switching “then” and “but” in (b) and adding (c) as a new choice.  The answer had been “all of the above” in the prior version.
(a) The grantor used “and his heirs” when he wanted to create a future interest in fee simple in Eric’s children.  . This is one of the dissent’s arguments from White v. Brown. 75% of you chose this answer.
(b) The grantor’s use of the word “but” rather than “then” (to introduce Eric’s children’s interest) suggests that the interest is a remainder rather than an executory interest.  The use of the word, “then” (rather than “but”) is what we said suggests a remainder and therefore a life estate.
(c)  The future interest in Eric’s children suggests that Alex wanted Smith-acre to remain in Eric’s family.  This argument would be more consistent with interpreting the interest as a fee. If it is a life estate and the condition isn’t violated, it will pass to the McGlashen Corp. (not to Eric’s family) on Eric’s death. 
(d) All of the above. 19.7% o you chose this answer.
Questions 6-7 are based on the same information as Questions 4-5 and the additional information in the following paragraph: In 2012, without reducing his chinchilla breeding operations, Eric built a large parking lot and a small visitor’s center on Smith-Acre. Since that time, he has charged visitors to tour the facilities of the chinchilla farm.  In 2017, Eric has two living children, Scott and Tony. 
(6) All of the following arguments are relevant to a determination of whether Eric has violated the condition in Alex’s will, except:

(a)  Scott and Tony have made no attempt to take ownership of Smith-Acre.  This tells us nothing about whether Eric violated the condition. Scott and Tony might incorrectly believe there is no violation, might be unaware of the terms of the grant or of what their father has done, or might not wish to dispossess him. 84.2% of you chose this answer, which I thought was quite good for a new question of this type.
(b) The parking lot and visitor’s center are not ordinarily part of chinchilla farming, so Eric is literally using those areas for “something other than a chinchilla farm. This is a plausible literal argument: part of Smith-Acre is not being used as a farm. Because the language of the grant is not precise about how much of the land must be used as a farm, both this answer and (d) are available arguments.
(c) When alive, Alex had repeatedly rejected Eric’s suggestion that Alex open the farm to visitors.  This argument suggests that the grantor might have intended the condition to address precisely this situation.
(d) Allowing people to view its operation doesn’t make Smith-acre any less a chinchilla farm.  This also is a plausible literal argument; the new additions haven’t changed the way the property is primarily used. 10.5% of you chose this answer, perhaps because it was unfamiliar.
(7) In 2017, one of your clients wants to purchase Smith-Acre as part of a project to build a large industrial park.  Which of the following would be useful advice to your client or useful steps to take on your client’s behalf?
This was a new (very hard) advice question.
(a)  Because the condition can only be violated by Eric himself, there is no need for your client to acquire the future interest in “Eric’s children.”  Your client needs to purchase the children’s interest in case a court decides that the condition was violated in 2012 and the children are now the owners of Smith-Acre. The only reason not to do this would be if neither child was alive in 2012 (a reason not made part of this answer).   
(b) You should, on your client’s behalf, determine if the McGlashen Corporation has transferred any rights it may have had to Smith-Acre. If a court construes the grant as a defeasible life estate, there would need to be an interest to follow the life estate.  Because the interest in the children is not phrased as a remainder (but rather as an executory interest intended to cut off Eric’s interest if he violates the condition) the grantor must have created a reversion, which would pass to McGlashen through the residuary clause. For your client to get a fee simple, you’d have to purchase the reversion from McGlashen or from whjoever holds it now.  Only 10.5% of you chose this answer, making it far and away the hardest question on the test (at least 50% of you chose every other correct answer).
(c) Acquiring all rights from Scott and Tony would be insufficient to fully purchase the future interest in “Eric’s children” because Eric could always father or adopt additional children.  Because the grant is to children “then living,” afterborn children can’t take if Eric no longer has an interest in Smith-Acre (and thus can no longer violate the condition). 46.1% of you chose this answer.
(d) You should, on your client’s behalf, determine in what ways possibilities of reverter are transferable in the state where Smith-acre is located.  In prior grants based on Problem 3R, the condition was worded in a way that the grantor might have retained a possibility of reverter.  Here, however, the condition is not attached to the grant to Eric, but only to the interest in his children.  Thus if Eric violated the condition at a time when he had no living children, the executory interest would not become possessory and Eric wouldn’t lose his interest. Because the grant creates no possibility of reverter, you need not take this step. 34.2% of you chose this answer, presumably because it was relevant to prior similar grants.
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Question 8 is based on the following information: Dan conveys Gray-Acre "to Edgar for 10 years, then to Freddy forever."  Five years later Freddy dies, leaving all his property to his friend Jen in a valid will.
This is essentially Exam Bank Question 31 based on Problem 3B except that, instead of a life estate, Edgar has a term of years.  Freddy has a vested remainder.  Because the words “and his heirs” are not present, at common law Freddy’s remainder would be in life estate and Dan would retain a reversion.  Today, Freddy’s remainder is in fee simple, Dan retains nothing, and the property would pass through Freddy’s will.

(8) Assume that ten years after the date of the original conveyance, Dan, Edgar, and Jen are all still alive. At that point, who owns Gray-Acre?

(a) Jen, if the problem takes place “at common law.” At common law. Freddy has no interest that survives him to pass on to Jen.

(b) Freddy’s heirs, if the problem takes place today. Because Freddy left a valid will, the interest would pass through the will to Jen.

(c) Dan, if the problem takes place “at common law.” When Freddy dies, his interest (which is in life estate) can no longer become possessory.  Thus, Dan’s reversion would become possessory after the term of years expires.  81.6% of you chose this answer.
(d) Dan, if the problem takes place today. Today, Dan retains no interest.

Question 9 is based on the following information: Rohan conveys Mac-Acre "to Sydney for life, then to Sydney’s widower and his heirs.”
This is a new question, testing the fact that you cannot know who Sydney’s surviving spouse will be until she dies. Even if Sydney is married at the time of the grant, she could divorce her husband or he could die, and she could subsequently remarry.  Thus, like a grant to someone’s children who survive them, this interest is contingent until Sydney’s death, because the “widower” is not ascertainable until that time. This is a point of logic that you should be able to see from the terms of the grant, especially since I noted the issue in conjunction with the perpetuities discussion in class and in the write-ups of the grants in that section. 
(9) At the time of the grant, what is the widower’s interest?

(a) Vested remainder, if Sydney is married. 39.5% of you chose this answer.
(b) Contingent remainder, if Sydney is married. 51.3% of you chose this answer making this the second hardest question on the test.
(c) Vested remainder, if Sydney is unmarried.

(d) None of the above.

Question 10 is based on the following information: In 1999, Riana conveys Post-Acre “to Samantha for life, then to Yujia and her heirs, but if Samantha is survived by any children, then to such surviving children and their heirs.” In 2016, Samantha’s only child Vincent died intestate, leaving a surviving spouse as his sole heir.
The grant is Problem 3N. I created a new question by adding the last sentence to see if you understood the difference between this grant and 3M. At the time of the grant:

· Samantha has a life estate.

· Yujia has a vested remainder subject to divestment.  This is vested because it goes to a named person and there is no condition in the clause that creates the interest.  Instead, the condition is a limit on the children taking.  However, because Yujia could lose her interest at Samantha’s death if Samantha has surviving children (before she ever comes into possession), we use this terminology.  
· The interest in Samantha’s children would cut off the vested remainder of Yujia (another grantee), so it is a shifting executory interest. 
Because the executory interest only goes to Samantha’s children who survive her, the interest does not vest at their birth and those children who pre-decease her get nothing.  Thus, Vincent has no interest to pass to his spouse because Samantha is still alive. 
(10) After Vincent’s death, which interest exists if Riana, Samantha and Yujia are all still alive?
(a) Vincent’s surviving spouse has a vested remainder subject to open.

(b) Vincent’s surviving spouse has a shifting executory interest.

(c) Yujia has a vested remainder subject to divestment. 76.1%% of you chose this answer. 
(d) Riana has a reversion. Because Yujia has a vested remainder, Riana did not retain a reversion. 11.8% of you chose this answer.
Questions 11-14 are based on the following grant: In 2015, Adrienne, while alive, grants Stone-Acre “to my daughter Cecilia and her heirs on the condition that she periodically attend a Methodist Church service, and if at least three months pass in which she fails to so attend, the property is to be retaken.”
These questions are the same as Spring 2014 Questions 13-16.
(11) Assuming the condition is valid, all of the following arguments support characterizing Cecilia’s interest as a fee simple determinable (as opposed to a fee simple on condition subsequent) except: 

(a) It will be relatively easy to determine whether or not Cecilia attended a Methodist Church service during any three month period.  For the condition to operate automatically, you need to be able to determine a clear moment when it has been violated.  Here, although “periodically” is vague, the reference to “three months” provides the clear moment. 
(b) There is a condition in the first clause of the grant. The paradigm form for a fee simple on condition subsequent has the condition only in the second clause.

(c) The phrase “is to be retaken” suggests that the future interest holder has no discretion about whether to act. This is clearly stronger language than “may” or “can”, which are typical of the fee simple on condition subsequent.
(d) The grant appears to be an attempt to punish the grantee for not adhering to the condition, as opposed to ensuring that the property is used for a particular purpose.  This is factually correct, but Mahrenholz says it supports treating the grant as a fee simple on condition subsequent. 69.7 % of you chose this answer; the rest split roughly equally among the other three.
(12) Assuming the condition is valid, all of the following arguments support characterizing Cecilia’s interest as a fee simple on condition subsequent (as opposed to a fee simple determinable) except: 

(a) Because Adrienne was alive at the time of the grant, she must have intended to exercise discretion as to whether to retake Stone-Acre. Nothing in the materials suggested that this is a relevant consideration.  The grantors were alive in Mahrenholz, and the court still found the ambiguous grant to be a fee simple determinable. Moreover, if the title reverted back to her, she could always regrant it to Cecilia if she thought it appropriate. Only 59.2 % of you chose this answer, making this the 5th hardest question.
(b) Most states have a presumption in favor of the fee simple on condition subsequent. This is true.

(c) The grant is structured in two parts. This is the typical form for a fee simple on condition subsequent. 13.2% of you chose this answer.
(d) The grant uses the phrase “on condition that” as opposed to language related to time passing. This is the typical language for a fee simple on condition subsequent. Somewhat surprisingly, 22.4% of you chose this answer, perhaps because you thought you were sure of the other three before you read it.

(13) Which of the following arguments support finding the condition void as against public policy?

(a)  The grant does not create a “gift over.”  Both White and Shapira treat as relevant to determining the grantor’s intent the question of whether the grantor created a “gift over” to follow the interest at issue in the case.  However, both those cases were interpreting wills and so the grantors would have no other opportunity to make their intent known.  Here, Adrienne is still alive.  Unlike White, she has no need to give away the future interest immediately.  Unlike Shapira, she could demonstrate a larger religious mission in a subsequent will or by what she does with the land if it comes back to her.  Also, because Cecilia can reject the gift immediately (and then can negotiate with her mother for different terms) it does not appear to be the kind of “in terrorem” condition Shapira worried about.

(b)  There are only three Methodist Churches within driving distance of Stone-Acre.  .  This kind of argument was relevant in Maddux and Shapira because the issue was whether the condition unduly restrained marriage by limiting the grantee to too few partners.  Here, Cecilia presumably does not need several dozen Methodist Churches to choose from. 

(c)  Cecilia does not share her mother’s Methodist religious beliefs and so having to actually attend the religious service is a particularly great imposition on her religious freedom.  Although technically the grant addresses her conduct and not her beliefs, sitting through a religious ceremony when you don’t believe in it seems a much greater conflict with your beliefs then, e.g., lighting a candle in a particular church. Also, there was no claim in Shapira (where they tried almost everything they could) that the grantee had actively rejected Judaism and so the marriage would be counter to his beliefs. 89.5% of you chose this answer, making this the 5th easiest question the test. 

(d) All of the above.
(14) Which of the following arguments support finding the condition valid and enforceable?

(a) If Cecilia does not want to adhere to the condition, she need not accept the gift. This is always a plausible argument in response to a claim that the condition is unduly burdensome. I think it is even more persuasive when the grantor is alive and might be convinced to change her mind about the restriction.
(b) Adrienne has strong religious beliefs and encouraging the continuation of her religious legacy should be seen as a legitimate interest. We discussed in class that this seemed to be a plausible policy argument.
(c) The time and effort required to attend a ninety-minute service once every three months is not unduly burdensome. Certainly this fact makes the condition more likely to be upheld than a requirement that Cecilia go to church daily or even weekly.
(d) All of the above. 93.4% of you chose this answer, leaving this tied for the second easiest question on the test..
Question 15 is based on the following information: Max grants Lucky-acre:  “To Parker for life, then to Rebecca and her heirs if she turns 21 before Parker’s death, but if she does not, then to Sara and her heirs.” 
(15) In a state that does not destroy contingent remainders, which of the following interests would exist if Parker died when Rebecca was 16 years old?
This is a new question designed to test careful reading.  The grant is different from prior questions involving alternate contingent remainders because the relevant condition is that Rebecca must turn 21 before Parker dies.  Because she did not (and cannot) meet the condition, her interest simply fails and Sara’s remainder becomes a fee simple absolute, regardless of the jurisdiction. 
(a) Springing executory interest in fee simple in Rebecca.  This would be correct if the condition was simply that Rebecca turn 21 (without the reference to Parker’s death). 14.5% of you chose this answer.
(b) Fee simple absolute in Max.

(c) Fee simple absolute in Sara. 71.1% of you chose this answer.
(d) Shifting executory interest in fee simple in Sara. 14.5% of you chose this answer even though , when alternative contingent remainders hang around after the life estate ends, they always cut off the grantor’s reversion.
Questions 16-17 are based on the following information:  In her valid will, Andrea grants Gross-Acre “to Dillon for life, then to Marc and his heirs, but if my daughter Elizabeth marries an actor, to Elizabeth and her heirs.”  
This is the same grant used for Spring 2016 Questions 22-24.  Question 16 is the same as 2016 Question 23. 
(16)  Which of the following facts would be relevant to determine whether Dillon’s interest is best characterized as a life estate on executory limitation?: 

This is asking if these facts would be helpful in deciding whether or not Elizabeth’s interest should be read to cut off Dillon’s life estate.  Although (a) and (c)support cutting it off and (b) supports not cutting it off, all three are relevant to the decision.
 (a) Andrea repeatedly expressed concern that if Elizabeth (who was an actress herself) married one of her actor friends, Elizabeth would starve to death. If Andrea was worried that Elizabeth would starve, she would want her to have the property immediately. 10.5% of you chose this answer.
(b) Dillon is 81 years old and in poor health. If this is true, it would seem likely that Andrea did not intend to evict poor Dillon, but rather to have Elizabeth wait until Dillon’s life estate ended.
(c) The grant to Elizabeth does not include the word “then.”  If the grantor wanted to be clear that the grant to Elizabeth had to wait for the end of the life estate, using “then” would so indicate. 15.8% of you chose this answer.
(d) All of the above.  67.1% of you chose this answer.
(17)  If the condition that Elizabeth marry an actor is challenged as being against public policy, which of the following points support reaching a different result in this case than that reached by the court in Shapira?  
In 2016 and earlier versions of this question, I had asked students to identify arguments that supported reaching the same result as Shapira.  Here, I asked instead for arguments supporting a different result, meaning arguments suggesting that the condition should be void as against public policy. 

(a)  Andrea has no duty to provide for her adult children at all, so she should be allowed to put nearly any restrictions she wants on her gifts.  As I noted in class, this is always a plausible argument for upholding this type of condition (the same result as in Shapira).
(b)  At the time Andrea died, Elizabeth was engaged to be married to a lawyer whom Andrea despised.  Shapira draws a distinction between a well-developed estate plan and an in terrorem condition.  If the court believed that Andrew created the grant here just to break up Elizabeth’s pending wedding, it might well view this as equivalent to an in terrorem grant and strike it down (a result different from that in Shapira). 80.3% of you chose this answer, a good showing for a question altered in this way.
(c) There are thousands of aspiring actors residing in the city where Elizabeth lives. This supports reaching the same result as Shapira because of the wide range of possible spouses. 14.5% of you chose this answer.
(d) All of the above.
Questions 18-21 are based on the following information: In 1985, Aaron granted Roman-acre “to Brandon for life, then to Brandon’s children, but if Brandon is not survived by any children, then to Cody and his heirs.”  At the time, Brandon had no children.  In 1987, Brandon has a child, Diego. In 2017, Diego dies leaving all his property in a valid will to the Mormann-Dawson Foundation. At that time, Brandon is still alive but has no other children.
These are from the set of questions I have tested regularly based on Problem 3M. This specific set of questions is the same as Exam Bank Questions 12-15 and Spring 2013 Questions 4-7.

(18) In 1985, the interest in Brandon’s children is a

(a) Vested remainder subject to open. The interest can’t be vested because no children are born.  

(b) Vested remainder subject to divestment. Same as (a).

(c) Contingent remainder. The interest is contingent because no children are born yet.  92.1% of you chose this answer, making this the 4th easiest question on the test..
(d) Contingent remainder subject to divestment. There is no such thing; subject to divestment only modifies “vested remainder.”

(19) In 1985, the interest in Cody and his heirs is a

(a) Vested remainder.  It could not be vested because there is a preceding condition that cannot be met until Brandon dies.

(b) Contingent remainder. An executory interest must cut off a vested interest (either a present interest or a vested remainder).  Here, the interest follows a contingent remainder, not a vested interest, so it cannot be an executory interest.  Moreover, if Brandon never has children, it could simply follow naturally at the end of Brandon’s life estate.  65.8% of you chose this answer, which is a little disappointing for a question we did in class and that I have tested repeatedly.

(c) Shifting executory interest. See explanation under (b) for why it is not an executory interest. 21.1% of you chose this answer.
(d) Springing executory interest. See explanation under (b) for why it is not an executory interest.  Moreover, if it cuts off anyone, it would be the children, not the grantor, so it would be shifting, not springing.

(20)  When Diego is born, which of the following is then correct?
When Diego is born, he gets a vested remainder (because he is living and ascertainable and there is no condition precedent in the grant to the children) subject to open (because more children could be born) subject to divestment (because he could lose his interest prior to coming into possession if Brandon dies survived by no children.)
(a) Aaron’s reversion divests. Because initially there were two contingent remainders, Aaron retained a reversion.  When Diego is born and the children’s interest vests, the reversion is no longer needed as a placeholder and the reversion divests. 73.7% of you chose this answer.

(b) Cody’s interest fails. .  So long as Brandon is alive, it is possible Brandon will eventually die with no surviving children.  The birth of the children doesn’t guarantee that they’ll survive.  Diego’s birth instead converts Cody’s contingent remainder into an executory interest.

(c) Diego has a contingent remainder. This answer is wrong because, given the way the grant is worded, the survival condition is part of the grant to Cody, not the grant to the children. 10.5% of you chose this answer.
(d) Diego has a vested remainder in fee simple on executory limitation. This is wrong because Diego can only lose the property before coming into possession.  If he moved on to the property, by definition he would have survived Brandon and the grant to Cody would have failed. 14.5% of you chose this answer.
(21)  When Diego dies, what happens to his interest?

At his death, Diego had a vested remainder subject to open subject to divestment.  The interest is not (by its terms) dependent on Diego surviving Brandon.  Cody only takes over (divesting Diego’s interest) if Brandon is survived by no children at Brandon’s death.  Since Brandon is still alive and can have more children, Cody’s interest has not vested.  Diego’s interest will remain at least until Brandon’s death, and passes through his will to the Mormann-Dawson Foundation. 
(a) It is destroyed. As noted, the interest can only be destroyed by Cody’s interest vesting, which cannot happen until Brandon’s death.  11.8% of you chose this answer.
(b) It passes to the Mormann-Dawson Foundation. 85.5% of you chose this answer.
(c) It passes to his heirs. Diego can pass a vested remainder to anyone he wants at his death.  Because he had a valid will, it will pass through the will not by intestacy.

(d) None of the above.  
Question 22 is based on the following information:  In her valid will in 2011, Jessica grants Braun-acre:  “To Matthew for life, then to my children for their lives, then to Matthew’s oldest child to survive him.”
I have given this problem multiple times, most recently as Question 11 in Spring 2016.  Students have had trouble with this problem because of a failure to think through the logic of the problem.  The grant is in Jessica’s will, which means she is dead, which means that any children she is ever going to have are already born.  
(22) Which of the following interests is created by the grant? 

(a) Contingent remainder in life estate in Jessica’s children if there are none alive at the time of the grant. If no children survive Jessica, the interest simply fails; it is not contingent because no more can be born. 

(b) Contingent remainder in Matthew’s oldest child to survive him.  This is a contingent remainder because we cannot ascertain who this will be until the moment of Matthew’s death.  53.9% of you chose this answer, making it the third hardest question on the test, which is troubling given that I include this question almost every year.
(c) Vested remainder in life estate subject to open in Jessica’s children if any are alive at the time of the grant. .  The vested remainder is not “subject to open” because no more children can be born. 

(d) All of the above. 39.5% of you chose this answer.
Question 23 is based on the following information: In 2015, Arturo grants Hill-acre “to Phil and his heirs, but if Phil does not open a gambling casino on the property, Steven can enter and take Hill-acre.”

This is a variation on Spring 2015 Question 7 and Spring 2016 Question 3.  Here, I placed the questionable condition on a fee simple interest rather than on a remainder. Its validity depends on the law of the jurisdiction.  If the casino is illegal, we would pencil out the condition, leaving Phil with a fee simple absolute.  If the casino is legal, Phil has a fee simple on executory limitation because the future interest is held by a grantee.
(23) At the time of the grant, Phil has 

(a) A fee simple on condition subsequent, if operating a gambling casino is legal in the jurisdiction.  This would be true for a grant worded this way if the future interest was retained by the grantor. 
(b) A fee simple absolute, if operating a gambling casino is not legal in the jurisdiction.  86.8% of you chose this answer.
(c) A vested remainder in fee simple on executory limitation, if operating a gambling casino is legal in the jurisdiction. There is no finite estate preceding Phil’s interest, so it cannot be a remainder. 
(d) Nothing, if operating a gambling casino is not legal in the jurisdiction.  If the condition is invalid, we pencil out the condition (and the future interest that depends upon it), not the underlying fee.  
(24) Which of the following future interests is not initially held by a grantee?
This is Fall 2010 Question 1 and Spring 2013 Question 1..

(a) Vested remainder in fee simple determinable. A vested remainder in fee simple determinable is followed by a future interest held by the grantor, but a remainder is always held by a grantee.
(b) Contingent remainder in life estate.

(c) Possibility of reverter.  This is the future interest held by the grantor that follows a determinable present estate. 93.4% of you chose this answer, leaving this tied for the second easiest question on the test.
(d) Springing executory interest. A springing executory interest cuts off the grantor’s interest, but is always held by a third party, not by the grantor.
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